Econ 446 Lab 3

January 29, 2010

Download the hip data file.
1) Using your calculator (Excel) calculate the sample mean and variance.

2) Construct a 95% confidence intervals for the population mean. (Hint: t critical is 2.01)
3) Using the data find the sum of least squared errors (SSE) and graphically find the mean that corresponds to the minimal SSE.  For the mean use a grid from 14 to 20 with step 0.2.
Please, round your results to the fourth significant digit.

Provide your results with explanations and formulas in a separate doc(x) or pdf file.

